Name Date

Solve One-Step Inequalities #3

Solve each inequality. Then graph the solution set on the number line.

6w <18 b+5=>-2
w<3 b>-7
-+ttt 01— 1 -t ettt b
3 2 1 0 1 2 3 4 5 6 7 -10 -9 -8 -7 -6 5 4 3 2 1 0
I >7 Z-64>-58
r<-21 z>6
-ttt 11— ettt 4+
-30 -29 -28 -27 -26 -25 -24 -23 -22 -21 -20 -3 -2 -1 0 1 2 3 4 5 6 7
91+g=-19 4.5s = 36
g=>2-11 s28
-~ ——+——+——+> | ~— >
15 14 13 12 11 10 9 8 7 -6 5 0 1 2 3 4 5 6 7 8 9 10
d+81>23 ~3.2y>12.8
d>-58 y< -4
-ttt -+ttt
65 64 -63 -62 -61 60 -59 -58 -57 56 -55 7 6 5 4 3 2 1 0 1 2 3
<>-3 k-76>74
c<24 k>15
-+ttt 11— -ttt
20 21 22 23 24 25 26 27 28 29 30 11 12 13 14 15 16 17 18 19 20 21
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